Worksheet — 5
Interest on Drawings

1.Ram and Mohan, two partners, drew for their personal
use % 1,20,000 and X 80,000. Interest is chargeable @
6% p.a. on the drawings. What is the amount of interest
chargeable from each partner?

. One of the partners in a partnership firm has withdrawn
% 9,000 at the end of each quarter, throughout the year.
Calculate interest on drawings at the rate of 6% per
annum.

. Calculate interest on drawings of Ashok @ 10% p.a. for
the year ended 31st March, 2019, in each of the
following alternative cases:

Case 1. If he withdrew X 7,500 at the beginning of
each quarter.

Case 2. If he withdrew % 7,500 at the end of each
guarter.

Case 3. If he withdrew % 7,500 during the middle of
each quarter.

. Kanika and Gautam are partners doing a dry-cleaning
business in Lucknow, sharing profits in the ratio 2: 1
with capitals X 5,00,000 and X 4,00,000 respectively.
Kanika withdrew the following amounts during the year
to pay the hostel expenses of her son:

1st April % 10,000




1st June < 9,000

1st % 14,000
November

1st < 5,000
December

Gautam withdrew X 15,000 on the first day of April,
July, October and January to pay rent for the
accommodation of his family. He also paid ¥ 20,000 per
month as rent for the office of partnership which was in a
nearby shopping complex.

Calculate interest on drawings @ 6% p.a.

5. A and B are partners sharing profits equally. A drew
regularly ¥ 4,000 at the end of every month for six
months ended 30th September, 2019. Calculate interest
on drawings @ 5% p.a. for a period of six months.




